e

Kincoppal-Rose Bay, School of the Sacred Heart

9X Advanced Mathematics, Assessment Task 2006

PART 2 TRIGONOMETRY _
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2. Find the value of the pronumeral in the following (give your answer cbn-ect to 1 decimal

place where necessary:
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(c) give jour answer to the nearest degree e
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(d)  Jasmine the ant stands 40m from a wall. She notices that the angle of elevation of the top of
the wall is 15°.
® Draw a neat diagram to represent this information. 1
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(i)  Find the height'of the wall
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A ship 4 leaves port and travels 60km on a bearing of 140°.
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PART C FURTHER TRIGONOMETRY
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(b)  Sketch the triangle POR, in whichp =7,g=154nd £P =25°50"  ~
- . @ Find the two possibleggizes of the £Q correct to the nearest minute 3
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A triangle has sides 7em, 8em and 10cm. Find the size of the angle opposffe

the smallest side.

In the diagram CD =100m, LACB =25° and LADB =75°

®

@

CT»A bt ro0-

Ly gyro

Find the length of AD (2 decimal places)
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Find the length of 4B (2 decimal places)
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Alice

Barbara CHarlene

Alice is on the opposite side of ariver to Barbara and Charlene. Barbara has a ruler, protractor and
calculator. Describe in detail how the girls could work out the width of the river. None of the girls
are allowed to cross the river. Your explanation should be careful, detailed and at least half a page
in length. You may wish to use diagrams to illustrate your method.

%O:} /r 0 |
7278 st
/X/OW:ITO-'/ . ?0‘/ ) |

y 4

Erst choote <« Ficee chyect ef = rock on froe on The opp
M, Yok OIS canstotl How CAmep Ae. 3, 307 W’}Cx_?a
Wil the  emb ol enid 2 bl ot
h JJ“A s codons = B Ll g,
A p - . 7

. }
@/\{,ouv’( : ﬁmﬁm R A
: E=—- N 'S}

H




